(6x3 —x? =5x+5)+ (2x—1) 9] & a, YHAE bt & of =
. = ) Eb (\221'.- =
-~ X | ,a+b=

2
®3x+x+1 @ x2+x+1 ® 3x2+1

@ x®+x-1 ® 3x2+x

A o]l 851H a=3x2+x-2,b=3
Ca+b=32+x+1
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2. TR f(x) 8 242 + 3x+ 22 LRI Y Fo] 3x— 4], L 27}
2x -+ 50191ek. o] w, £(1) 9] Zhe?

®-1  @o ® 1 @ 3 ® 5

B

f(x) = (2% +3x +2)(3x —4) + (2x + 5)
= 62>+ 922+ 6x—8x2 - 12x -8+ 2x+5
=6x34+x2-4x-3

L f)=6+1-4-3=0

f(x) = (2x +3x+2)(3x —4) + (2x + 5)
F1) = (243+2)(3-4)+(2+5) =~T+7=0
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4.

xo A f(x) S x-28 W UM 75014, x- 302 UHeH
U z]7t golct, o] thalAl S (x - 2)(x - 3) 2 & s wjo] YA E

Foha?
D x-1 @ 2x+3 @4x—3
@ 4x+3 ® 3x-1

YUz ZelolA £(2) =5, f(3) =9

F(x) = (x=2)(x=3)0Q(x) +ax+b = W,
f2)=2a+b=>5, f3)=3a+b=9=
AYste] EHa=4, b=-3

S UHA = 4x-3




OFA f(x) = 2 +ax + bl Hste] f(x) - 2= x - 12 U0
HOIA|AL f(x) + 2 x + 12 o] Bolxint, o] mf, a - 25 9] 2
o

® 1 @ 2 @3 @ ® 5

fx) -2 x-12 Eojx|B22
f1)=2=0 . 14a+b-2=0
La+b=1---@O

f(x)+2+x+ 12 Yol Eojzj2=2
f(-1)+2=0 .. 1—a+b+2=0
L—a+b=-3---Q

@, 0N a=2b=-1 ..a-2p=4
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A= 2
P+ x+x%)2 0 el xS 5
Ad=1
i) (1+x+ x2 4 x%)3 0] Ax}Fo| A5
x4+ x% 4+ x3 = yaF sh,
(RS RS S
3Y = 3x 4 32 + 3:°
ARG A%= 3, T2 Fol Aol
i), i)olA2+1+3=6
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A5HA ] AFA7E . o] AgAte] B BAE| 2] Lo] 9] gho
20molal A9l Aol7k 3md w, o] Aol ZEele B m?
A7F?

®12m?> @ 13m? @ 14m? @ 15m? (@wm2

S5 ~

Al B2 9] AolE a,b,cet oFH

4(a+b+c)=20,a+b+c=5

Va2 +b2+2=3,a>+b>+c2=9

(B4 ol) = 2(ab + bc + ca)
=(a+b+c)?-(a®+b*+2)
= 25-9 = 16(m?)




8.

x+y+z2=0, 2x—y—Tz =32 FA UHFAZ]= x,y,z0l st
ax® +by? +cz2 =101 AHS W), a4 b + ¢ 9] & F5HH?

B ~
() x+y+z=0, 2x—y—-"T7z=3°A
x, y& zo tisto] LehyH
x=2z+1, y=-3z-1
(i) x=2z+1, y=-3z—1-Z ax® + by? + cz> = 1 ol U3}t
Bejota
(4a+9b+ )z +2(2a+3b)z+ (a+b-1)=0
4da+9b+c=0,2a+3b=0,a+b-1=0
ca=3,b=-2,c=6
ca+b+c="7




T oA f(x), g(x) ol Hist f(x) +g(x) = x+2 = Lo] ojA| 4,
f(x) =g B x+ 22 U732 W o 4R = 40t [E7]] 9]
A B x4 22 Lhieo] WolR 21 B 2 WY

@ x+ /(%) © 2+ f(W)s(x)

©® f(s(x) -«
® 6 e ®)a, o
@ ©,© ® 3,0 ©

B

2] ol 98l f(-2) +g(-2) =0, f(-2) - g(-2) =4
FAE AYSHY, f(-2) =2, g(-2) = -2

@ x+f(x) > x=-25 HYstH

-2+ f(-2)=0

O 2+ f(x)g(x) - x=-2F HYoHH (-2)2+ f(-2)g(-2) =
0

©: flg) —x - x = 25 dIYsHA f(g(-2)) - (-2) =
f2)+2-1




10. 20031°= 2002¢} 2004 2 Vi A7} 242t g, b O, a - b9
29

2002E x2F o}, 200310 = (x + 1)1°
(x+ 1) =x0(x) +a

(x+ 10 =(x+2)0(x) +b

e ] Aelo] ol

x=0, x = 22 27} tjedatm,
a=1b=1

La-b=0




